Maria Nogin, Calculus I, Fall 2006



Problem-Solving:  Limits

Find a group of three.  Work through the following problems.  We’ll discuss some as a class.

1.
Evaluate the limits.  Choose a mixture of graphing the function, using a table of values, and using the limit laws.  Some limits may not exist:  if this is the case, explain why the limit does not exist.
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2.
Sketch an example of a function that meets each of the following criteria.


a.
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3.  Evaluate the limits.    
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4.  Given that 
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, find the limits (or indicate that the limit does not exist).  Identify which limit laws you use.
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